Exercises 9.4
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(a) sin 132£ =1 (b) cosTi¥= =12 (c) cos 1(—%) =
( tan"'\/3=1 (b) tan"l(—4/3) = -1 (©) sin~14/3 is not defined.
(@ tan7'l1=7% (b) tan~'(-1)=-1% (¢©) tan™'0=0
(a) sin"!'0=0 (b) cosT0=1% () cosH(- =%
(a) cos™1(0.3388) =~ 1.22516 (b) tan~1(15.2000) =~ 1.505

~13y 3
cos(cos™'y) = 3

sin(sin~'10) does not exist, 10 is not in the domain of the function sin™!.

-1 Ty T i in% —sinZ. sin~Ysin¥&E) =~
tan!(tan §) = % 18. Since sin 5 = sin &, sin™'(sin ) = §

Since cos(—%) = cos §, cos~*[cos(—])] = |

sin(sin™!0) = 0 24, tan(sin'¥F)=tanf =1
-1 Y ane— 1y _
cos™!(y/3sinT) = cos™1(1/3 - 3)=1
Letu = sin‘lg, so sinu = %. Then from 30. Letw = tan~!5, so tanu = 5. Then from
: 14y _4 - “1r) _ _ 1
the triangle tan(sin™' ) = tanw = 3. the triangle cos(tan™'5) = cosu = T
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Leta = cos™! &, so cosa = % Then 34. Letu =sin~'2,sosinu = 2. Then from
from the triangle csc(cos 1 L) = csca = 2. the triangle cot(sin™12) = cotu = %—5 7
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